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5HVHDUFK ,QVWLWXWH IRU ,QIRUPDWLFV�

&HQWHU IRU $GYDQFHG 0RGHOLQJ DQG 2SWLPL]DWLRQ�

����� $YHUHVFX $YHQXH� %XFKDUHVW �� 5RPDQLD

(�PDLO� QDQGUHL#LFL�UR

,Q WKLV ZRUN , SUHVHQW WKH UHVXOWV RI 6&$/&* SDFNDJH IRU VROYLQJ WKH (ODVWLF 3ODVWLF 7RUVLRQ

SUREOHP IURP 0,13$&.�� &ROOHFWLRQ� ,Q WKLV H[SHULPHQWV , FRQVLGHUHG�

Q[ = ��� � F = � �

Q\ = ��� � θ V ����=� � �VSHFWUDO�

, FRQVLGHUHG WKH IROORZLQJ VWRSSLQJ FULWHULD�

6WRSSLQJ

FULWHULRQ

$OJHEUDLF H[SUHVVLRQ
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7KH UHVXOWV DUH DV IROORZV�

  ELASTIC-PLASTIC Problem   December 4, 2006, *** SCALCG Package ***
 Powell criterion for restart.   Stoptest = 1
      n   iter    irs   fgcnt  lscnt   time(c)       fxnew                gnorm
 --------------------------------------------------------------------------------------
 theta spectral
  40000    389    167     501    110    7997  -.4392677030965E+00   .5347904467391E-04
 --------------------------------------------------------------------------------------
 TOTAL     389    167     501    110   79.97(seconds)     proc= 42.93%

 SCALCG: istop (f)  total =      0    istop (g)  total =      1
         istop (fg) total =      0    istop (fr) total =      0

  ELASTIC-PLASTIC Problem   December 4, 2006, *** SCALCG Package ***
 Powell criterion for restart.   Stoptest = 2
      n   iter    irs   fgcnt  lscnt   time(c)       fxnew                gnorm
 --------------------------------------------------------------------------------------
 theta spectral
  40000    389    167     501    110    7991  -.4392677030965E+00   .5347904467391E-04
 --------------------------------------------------------------------------------------
 TOTAL     389    167     501    110   79.91(seconds)     proc= 42.93%
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  ELASTIC-PLASTIC Problem   December 4, 2006, *** SCALCG Package ***
 Powell criterion for restart.   Stoptest = 3
      n   iter    irs   fgcnt  lscnt   time(c)       fxnew                gnorm
 --------------------------------------------------------------------------------------
 theta spectral
  40000    783    347    1018    233   16313  -.4392678210702E+00   .8506251023689E-06
 --------------------------------------------------------------------------------------
 TOTAL     783    347    1018    233  163.13(seconds)     proc= 44.32%

  ELASTIC-PLASTIC Problem   December 4, 2006, *** SCALCG Package ***
 Powell criterion for restart.   Stoptest = 4
      n   iter    irs   fgcnt  lscnt   time(c)       fxnew                gnorm
 --------------------------------------------------------------------------------------
 theta spectral
  40000    783    347    1018    233   16308  -.4392678210702E+00   .8506251023689E-06
 --------------------------------------------------------------------------------------
 TOTAL     783    347    1018    233  163.08(seconds)     proc= 44.32%
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